a(6 @) (rad)

=
S
o

107 =

-1 0 1 2 3
TP n (PCA to beamline)

~107°

5 :
= O SO SN NSS!
o .
) :
o] b . .......................
| I I I I U I O
.94..u‘;_ :
T r :
o N
| it e A
0953 ——==1 0 T2 3

TP n (PCA to beamline)

Ui l IIIdI ble

LJ.LUJ.UUU eldd} to é)a

—— D

—e— DOM™m tolOOO eraz)

—— DOM~ ?n Ie st t1t0 1000 etzaz 0102

—+— DOM~fas tolOOO et 8

—— DOQMT] |xeTCP T plate_step2 tltol 00 etaZpOloZpS

-
IS
)
e
= L
>
x
o
o
S
© L

.9 JUL_ :

I :

R  EREIEEEEEEE EERERPRFERPRPRRR ., SEEPS
o b
-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

3

D_I—

2

5

10°E

107k

T 0 1 2 3
TP n (PCA to beamline)

—_

107

-1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


